o(0 @) (rad)

3

a(d cot(d))

RS
g ol 5
O g FERRREEE AR EE EEEETETE
1B +++’-'-??-'§‘-?-*-’++-+-+»++g+-++-+ ------ 2 IR
) 2
10 1 TP1}:9T (PCA t%obeamliné[f)
—=— DQM_CKF_TTbase
—— DQM_mkFit_TTbhase
5
3?
o 107
S

Hits G

i

B

H
3
-+
—’_—::i__
oy oo
R

2 3
TPlp?T (PCA t%obeamliné'f)

o p/p.)

[any
<
i

iy

101 1

: 2 3
TPlpg)T (PCA t%)obeamlinel)O

g Ik
S
gN
o
e}
107}
1072
01053l el L
g 0 : | [IRE
= T —— H 11 R ET—
:+++ + +} :
0.950 i J‘ T
1071 1

2 3
TPlp?T (PCA t%obeamliné'f)



	Contents
	Page 1


